Time And Time Again

Textual Questions

1. Choose the correct alternative :

Question (a). ‘Precise’ means:

i) different ways
i) inaccurate

iii) clumsy

iv) exact
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Answer: (iv) exact

Question (b) Which of the following reflects the poet’s attitude towards communal
disharmony?

i) critical condemnation
i) helpless acceptance
iii) wistful lament

iv) none of the above

—_~ A~ o~ o~

Answer: (iii) wistful lament
2. Answer the following questions in 15-20 words each :
15 U U4 BT IR 15-20 Tsal A T :

Question (a) Why is the city termed as ‘old’ ?

ER Bl R 7 HeT AT | ?

Answer: The city is termed as old because clock-towers are found in cities established a
long time back.
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Question (b). “Between the pieces of a back street quarrel”. What do you
understand by ‘backstreet quarrel’?

‘Backstreet quarrel’ JRM AL R ?

Answer: The term ‘backstreet quarrel’ refers to a quarrel that occurs on trivial matters
due to religious fanaticism or hostile communal feelings.

Teq 'backstreet quarrel’ 3 TS B 3R Ydbd Bl ¢ il U1 Hear a1 warguf
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Question (c) Explain — “The perennial feuds” and “seasonal alliances”. “Perennial
feuds” and “seasonal alliances”

YTea] &1 TR BRI

Answer: 'Perennial feuds' means the quarrels that keep going at all times. ‘Seasonal
alliances’ refers to temporary goodwill between the parties at dispute.

‘Perennial Feuds' T WWFW@%@WW@%I ‘Seasonal alliances
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Question (d) How do you interpret “knocked out clock work” ?

-l TSl B Y fHY YR AR Rl § 2

Answer: It means chaotic situation of the society when communal riots take a toll of
many lives and damage public property.
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Question (e) What is zigzag sky?

TS-Ue NPT I R T g ?

Answer: The wrong and confused explanation of religion has been called zigzag sky.
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3. Answer the following questions in 50 words each :

Y UQ® Uy BT IR 50 Wsal H ST -

Question (a) Why is the act of nature described as “precise” ?

Ughid & B B! id o &U | ol arord (b T g ?

Answer: The act of nature has been described as ‘précise’ in comparison to the acts of
human beings. We humans may be inaccurate in our acts. We interpret one thing in
many different ways. But nature does everything in an exact manner.
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Question (b). Discuss the title of the poem.

Hiadl & e R == Hifv |

Answer: The title of the poem, “Time and Time Again” is very appropriate. The world
has suffered time and time again clashes and conflicts due to religious differences.
These differences have been created by the various interpretations of religion given by
the so called custodians to suit their selfish motives.
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Question (c). How would you interpret the term “donor’s whim” ?

STdT ! Iich’ e b1 TRAT U fb g UhR HIA ?

Answer: It means a misinterpretation of religion made by the religious authorities. They
are donors of instructions in religious affairs including ethics, etiquette etc. They preach
the people in their own way as per their own understanding. They generate differences

in the minds of masses and disturb the peace of the nation.
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Question (d). What does the line ‘perennial feuds and seasonal alliance’ allude to?

g AT AR TS 3R AIGHY e a=MA" T Jobd Bl 872

Answer: The term “perennial feuds’ refers to the conflicts and riots between two
religious communities that keep on happening continuously. The term “seasonal
alliance” refers to the occasional temporary truce between the warring communities
brought about by some sensible voices within the communities or by some unavoidable
circumstances.
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4. Answer the following questions in 100 words each:

Y U Uy &1 IR 100 Vsl H IfSTT -

Question (a) What is the central idea of the poem ? How is it developed ?

FHiadT BT & favT o1 87 ST fohd YR ¥ gl gan g2
or

What is the theme of the poem ?

2 idal & fawgaxg a1 /7

or

Establish clocktowers as a symbol of confusing religious preachings.

YUCTER] B YA S aTal 4T IUCRN & Udie & &4 H dReT Sifog|

Answer: The poet is telling about people’s blind faith in religious authorities. The poet
expresses his views through the example of clocktowers. People take the time told by



clocktowers to be exact. But due to the differences in their manufacturing or the ways of
gongs being beaten, they always tell different time. In the same way, people who preach
religion do this job as per their own understanding of religion.

They preach what they understand. Thus they all preach religion in different lights. This
confuses and misguides people. Thus clocktowers are a symbol of confusing religious
preachings.
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Question (b). Is the poet’s attitude a representation of how the average Indian
feels both towards human violence and nature’s fury? Explain.

1 B HT VDIV 39 91d &1 Ui § o I U & oIk uefa & wy & ufa
{59 JPR SHT FHRaT 82

Answer: The poet’s attitude towards human violence and Nature's fury expressed in the
poem “Time and Time Again” is a true representation of what an average Indian thinks
and feels about them.

The poet feels that the wrong understanding of religion by the preachers of religions is
the root cause of the continued animosity between communities.

It is the common perception too that religious authorities interpret religion in their own
way. They misguide people and this leads to clashes and riots. Regarding Nature's fury,
the general opinion concurs with that of the poet that natural disasters are the way
Nature balances itself.
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Additional Questions

Question 1. What did you think the poem was about when you read the first few
lines ?

HIA B TUH $S Ufadal Ug- W 3ATUD! Hidal o1 1 [aod T 2

Answer: As we read the first few lines of the poem, we thought the poem is about
clocktowers. We thought it was about clocktowers’ giving varied time to varied people.
It seemed to be about clocktowers’ inability to tell exact time. We thought the poem
deals with the nature of clocktowers.
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Question 2. what makes for the differences between the timekeeping of the
various clocks ? What is the implicit comparison ?

1 o & o faftre ofeal & gag & R 3rmdnl § 2 39 fRUTT o1 Tidbfas U 3 fead
SEEIEIRIER

Answer: These differences are created by variations in the metallurgy of gong, setting of
frequency and variation in wave length, thickness and moulding of the shaking hand.
These variations have been implicitly compared with the various wrong interpretations
of religion. Various religious authorities interpret religion in their own way and thus
misguide people.
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Question 3. Which of the following reflects the poet’s attitude towards communal
disharmony?

(i) critical condemnation
(ii) helpless acceptance
(iii) wistful lament

9 & ¥ o1 Hfa & IefRie fa (3rema) & ufd e o) uelRid Har g ?

(i) TArTHS A=t
(ii) 3TIETT Wipid
(iif) T8 | HRT g1 faamy |

Answer: It is wistful lament because the poet expresses sorrow over communal
disharmony in society. He feels sorry for the state when the followers of all religions take
the preachings of their religion in the wrong way. Their blind faith in religious authorities
misguides them and causes riots. The poet wishes the people to be wise.

g 918 I WX g1 Iy g i Hid THS H Arieiiies Sed IR g9 oIad Rl g |
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Question 4. Is the poet’s attitude a representation of how the average Indian feels
both towards human violence and nature’s fury?

T TGP DI VB 39 1 BT UH Y19 & [ T YR Aa i1 a1 uhfa &
HIY P Ul (5T UHR Heqy HRAT | ?

Answer: Yes, the poet's attitude is a representation of how the average Indian feels both
towards human violence and nature’s fury. It is a general perception that communal
riots take place due to wrong understanding of religion. This is also a common thought
that natural calamities are nature’'s own way of balancing itself.
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Question 5. Why does the poet state the city as old well-managed city ?

PHid e B! R TARYd W8 T Hadl g ?

Answer: It's a mere ironical remark. The term ‘old’ refers to vices like prejudices,
inequality, discrimination etc. In largest form city is refered to society. The society is
ailing because it does not want to accept reforms felt necessary from time to time. It
keeps working on its old set of patterns.

g AT U RS B g1 'Old’ Teg gl BI ST &l & o Yanig, SRHH,
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Question 6. How do unmanned religious sentiments cause harm to the health of
society?

JHER! ¥ IfRd urftfes WA fhd TSR A &1 JHAH Ugard g ?

Answer: Religion in true sense is a means of guiding people to the path of love and
peace. But if we are not careful, we take religion itself as an end. In this state, we foster
biased sentiments for our religion. This causes communal disharmony which harms the
health of society.
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Long Answer Type Question

Answer the following question in about 100 words:

9 U UY BT IR 100 sal H ST -

Question 1. Give a critical appreciation of the poem.

HIAdT BT FHIAIATHS AT B |

Answer: The poem, “Time and Time Again” expresses the poet's wistful lament on social
disharmony and the consequent violence. The poet describes the theory of difference



among religions through the symbol of clock-towers. Just as different clock-towers tell
different time due to some error in their making, the poet concludes that wrong
understanding of religion leads to its different interpretations.

The religious authorities interpret religion in their own way for their own selfish motives
and misguide people. The natural consequence is that there are clashes and riots which
destroy clock-towers (religions) :
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